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part of the perimeter as 
it is INSIDE the shape.
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Made up of more than one rectangle
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This red line is no longer 
part of the perimeter as 
it is INSIDE the shape.

It was the 6cm of 
the small rectangle.

But now it is 10cm 
take away the 6cm 
that are inside!
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Made up of more than one rectangle
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Opposite sides are 
the same length. 
6cm +10cm = 16cm
6cm + 4 cm = 10cm
10cm - 6cm = 4cm
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Made up of more than one rectangle
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New perimeter =
6cm + 4cm  + 4cm + 
6cm + 10cm + 6cm + 
4cm = 40cm- 6cm = 
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Try this yourself 
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